normalized X?

107

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

w Sew oL
0 2 4 6 8 10 12 14 16 18 20
2

[ normalized x? probability |

Ratio

006 =-f--ekrerie e nieenis

0.05

0.04f--t--3

0.03

0.02

- | Entries
Mean 0.5382
Std Dev.

5068

0.3172

s /. /CMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global
s .[./ICMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global

__mkFit_batchCAND-adjusted
__mkFit_CAND

mmmm DQM_V0001_R000000001__Global__mkFit_CAND-AFTERCONFLICT2

101 1 10 102 pw3

< X2/ ndf >

Ratio

i
T T[T [T [T T I [T TIT T

-1
AR(track, jeltS)



	Contents
	Page 1


